PARLINGTON CRICKET CLUB 1st XI 2001

<u>LEAGUE</u>			PLAYED NOT STAT WON LOST DRAWN	RTED
	5th	IN LEAGUE WITH	327 POINTS	
	TOSS	WON LOST	12 12	
<u>CUPS</u>			PLAYED WON LOST	10 5 5
	<u>TOSS</u>	WON LOST	8 2	

LEAGUE

	24.1			Highest	Not	Comp.		Balls	Balls/	Numb	
	<u>Matches</u>	<u>Innings</u>	Runs	Score	<u>Out</u>	<u>Innings</u>	<u>Average</u>	Faced	Run_	<u>4's</u>	<u>6's</u>
N. PRATT	22	22	913	137*	6	16	57.06	1597	1.749	107	13
N.S. SIDHU	24	22	776	91*	5	17	45.65	1105	1.424	84	8
D.J.B. MORGANS	19	13	209	46	6	7	29.86	481	2.301	22	0
M. STAINSBY	23	23	545	81	3	20	27.25	1106	2.029	65	2
J.G. MOODY	21	20	408	73	4	16	25.50	636	1.559	35	3
M.E. JOBLING	16	14	264	44	0	14	18.86	472	1.788	28	2
K. BARKER	17	15	117	30	6	9	13.00	273	2.333	5	0
D. PAGE	24	10	57	19	5	5	11.40	100	1.754	2	0
S.N. WHITEHEAD	14	12	111	38	2	10	11.10	211	1.901	4	0
Also Batted											
C.S. BIGLIN	4	3	25	21*	1	2	12.50	30	1.200	3	0
D.R. JOHNSON	13	7	59	25	2	5	11.80	56	0.949	3	1
P.J. BENTLEY	4	2	11	11*	1	1	11.00	10	0.909	0	0
J.R.G. LAWRENCE	1	1	5	5	0	1	5.00	16	3.200	1	0
H. SINGH	1	1	4	4	0	1	4.00	5	1.250	1	0
R.J. LAWRENCE	14	5	10	4	2	3	3.33	26	2.600	1	0
K.D. MOTT	15	2	1	1	1	1	1.00	6	6.000	0	0
P.D. RAINE	18	1	0	0	0	1	0.00	4	N/A	0	0
S. RUSSELL	3	1	0	0	0	1	0.00	4	N/A	0	0
L. CRAGGS	3	1	10	10*	1	0	N/A	16	1.600	0	0
C. OWEN	1	1	6	6*	1	0	N/A	13	2.167	1	0

Played but did not bat

M.C.C. MORGANS 6 P.T. WHITESIDE 1

RUNS SCORED FOR	<u>WICKETS LOST</u>	<u>AVERAGE</u>
3872	130	29.78

							Best	Runs/	Strike	Nun	nber of
	Balls	Overs	<u>Mdns</u>	Runs	Wkts	<u>Average</u>	Bowling	<u>Over</u>	Rate	Wides	No Balls
N.S. SIDHU	2675	441.3	97	1220	73	16.71	8-30	2.765	36.64	1	25
N. PRATT	799	131	24	409	24	17.04	5-59	3.122	33.29	13	0
K.D. MOTT	637	105.4	30	342	16	21.38	4-31	3.245	39.81	3	0
D.R. JOHNSON	684	109	14	441	19	23.21	4-60	4.046	36.00	29	1
P.D. RAINE	705	114.1	19	439	15	29.27	4-25	3.848	47.00	3	17
R.J. LAWRENCE	583	91	3	425	14	30.36	3-31	4.670	41.64	34	3
Also Bowled											
D.J.B. MORGANS	24	4	0	32	0	N/A	0-32	8.000	N/A	0	0
J.G. MOODY	7	1	0	8	0	N/A	0-8	8.000	N/A	1	0
M. STAINSBY	24	4	0	24	0	N/A	0-24	6.000	N/A	0	0

Catches

N.S. SIDHU	14	D.J.B. MORGANS		P.J. BENTLEY	l	2
J.G. MOODY	12	R.J. LAWRENCE	6	P.D. RAINE	ſ	
D. PAGE	ſ	S.N. WHITEHEAD		K.D. MOTT	l	1
N. PRATT	10	D.R. JOHNSON	5	S. RUSSELL	ſ	
M. STAINSBY	8	M.E. JOBLING	4		-	

Stumpings

D. PAGE 8

RUNS SCORED AGAINST WICKETS TAKEN AVERAGE

3571 173 20.64

<u>CUPS</u>

				Highest	Not	Comp.		Balls	Balls/	Numb	er of
	<u>Matches</u>	<u>Innings</u>	Runs	<u>Score</u>	Out	<u>Innings</u>	<u>Average</u>	Faced	Run	<u>4's</u>	<u>6's</u>
N.S. SIDHU	10	10	281	64*	5	5	56.20	286	1.018	26	4
M.E. JOBLING	9	7	160	81*	2	5	32.00	187	1.169	15	0
S.N. WHITEHEAD	8	6	76	27*	3	3	25.33	107	1.408	6	1
N. PRATT	7	7	125	36	0	7	17.86	197	1.576	12	2
J.G. MOODY	10	9	116	36	1	8	14.50	197	1.698	7	0
M. STAINSBY	9	9	69	15	0	9	7.67	128	1.855	3	0
Also Batted											
D.J.B. MORGANS	7	4	59	18	3	1	59.00	76	1.288	5	0
C.S. BIGLIN	7	4	52	19	1	3	17.33	49	0.942	5	2
D. PAGE	9	1	13	13	0	1	13.00	14	1.077	0	0
B. KRISHNAN	1	1	7	7	0	1	7.00	8	1.143	1	0
K. BARKER	6	4	11	6*	1	3	3.67	22	2.000	1	0
P.J. BENTLEY	5	2	3	3*	1	1	3.00	10	3.333	0	0
R.J. LAWRENCE	5	1	0	0	0	1	0.00	1	N/A	0	0
D.R. JOHNSON	1	1	22	22*	1	0	N/A	13	0.591	2	0
N.R. FENWICK	4	1	0	0*	1	0	N/A	0	N/A	0	0
A. WHITEHEAD	2	1	0	0*	1	0	N/A	1	N/A	0	0

Played but did not Bat

K.D. MOTT	3
P. BUXTON	2
D. ALDERSON	1
L. CRAGGS	1
R. LEE	1
J. WATSON	1
P.T. WHITESIDE	1

RUNS SCORED FOR	WICKETS LOST	<u>AVERAGE</u>
1090	48	22.71

	Dalla	Over	Mdna	Dung	Wilsto	A	Best	Runs/	Strike		nber of
	<u>Balls</u>	<u>Overs</u>	<u>Mdns</u>	Runs	Wkts	<u>Average</u>	Bowling	<u>Over</u>	<u>Rate</u>	Wides	No Balls
N.S. SIDHU	458	76.1	19	265	21	12.62	5-14	3.482	21.81	0	1
K.D. MOTT	109	17.5	2	78	6	13.00	5-10	4.457	18.17	2	0
J.G. MOODY	80	13	1	82	6	13.67	3-25	6.308	13.33	2	0
D.R. JOHNSON	63	10	1	58	3	19.33	3-58	5.800	21.00	3	0
N. PRATT	298	47	4	215	9	23.89	2-22	4.574	33.11	16	0
Also Bowled											
R.J. LAWRENCE	84	14	3	59	2	29.50	1-15	4.214	42.00	0	0
P.J. BENTLEY	31	5	0	39	1	39.00	1-39	7.800	31.00	1	0
C.S. BIGLIN	8	0.4	0	10	0	N/A	0-10	15.000	N/A	4	0
P. BUXTON	28	4	0	27	0	N/A	0-27	6.750	N/A	3	1
B. KRISHNAN	13	2	0	25	0	N/A	0-25	12.500	N/A	1	0
M. STAINSBY	79	13	1	71	0	N/A	0-18	5.462	N/A	1	0
P.T. WHITESIDE	33	5	0	35	0	N/A	0-35	7.000	N/A	1	2
<u>Catches</u>											
N.S. SIDHU	} 4		N.R. FEN	NWICK)			P. BUXT	ON)	

M.E. JOBLING

D.J.B. MORGANS

1

Stumpings

M. STAINSBY

J.G. MOODY

D. PAGE 3 M.E. JOBLING 1

R.J. LAWRENCE

S.N. WHITEHEAD

D. PAGE

N. PRATT

RUNS SCORED AGAINSTWICKETS TAKENAVERAGE10285319.40

100's N. PRATT 137* v HARTLEPOOL (H) LEAGUE 50 off	73 balls	lls 100 off 14	1 balls
--	----------	----------------	---------

<u>50's</u>	N. PRATT	93	v	REDCAR	(A)	LEAGUE	50 off	42	balls
	N.S. SIDHU	91*	V	RICHMONDSHIRE	(A)	LEAGUE		62	
	N.S. SIDHU	90*	V	NORMANBY HALL	(H)	LEAGUE		81	
	N. PRATT	87*	V	BLACKHALL	(A)	LEAGUE		103	
	N.S. SIDHU	82	V	HARTLEPOOL	(A)	LEAGUE		49	
	M.E. JOBLING	81*	V	DISTRICT LEAGUE	(N)	CUP		59	
	M. STAINSBY	81	V	REDCAR	(H)	LEAGUE		80	
	J.G. MOODY	73	V	MARSKE	(A)	LEAGUE		74	
	N.S. SIDHU	70	V	BLACKHALL	(A)	LEAGUE		75	
	J.G. MOODY	70	V	MIDDLESBROUGH	(H)	LEAGUE		83	
	J.G. MOODY	68*	V	SALTBURN	(H)	LEAGUE		88	
	N. PRATT	67*	V	RICHMONDSHIRE	(A)	LEAGUE		88	
	N.S. SIDHU	64*	V	WHITBURN	(H)	CUP		39	
	N. PRATT	60	V	NORMANBY HALL	(H)	LEAGUE		103	
	N.S. SIDHU	59*	V	NORTHALLERTON	(N)	CUP		56	
	N. PRATT	59*	V	DARLINGTON RA	(A)	LEAGUE		90	
	N.S. SIDHU	58*	V	MARTON	(H)	CUP		36	
	N.S. SIDHU	58*	V	MARSKE	(H)	LEAGUE		57	
	M. STAINSBY	52	v	MARSKE	(H)	LEAGUE		81	
	N.S. SIDHU	51	v	DARLINGTON RA	(H)	LEAGUE		61	

FASTEST 50

N.S. SIDHU v MARTON (H) CUP off 36 balls

HIGHEST LEAGUE PARTNERSHIPS

1st	WICKET	103	v MARSKE	(H) N. PRATT	+	M. STAINSBY	173 balls
2nd	WICKET	166*	v RICHMONDSHIRE	(A) N. PRATT	+	N.S. SIDHU	204 balls
3rd	WICKET	55	v SALTBURN	(H) N.S. SIDHU	+	J.G. MOODY	107 balls
4th	WICKET	105	v MARSKE	(A) J.G. MOODY	+	D.J.B. MORGANS	158 balls
5th	WICKET	85	v HARTLEPOOL	(H) N. PRATT	+	D. PAGE	105 balls
6th	WICKET	31	v MARSKE	(A) J.G. MOODY	+	C.S. BIGLIN	17 balls
7th	WICKET	56	v RICHMONDSHIRE	(H) K. BARKER	+	D.R. JOHNSON	54 balls
8th	WICKET	13*	v BISHOP AUCKLAND	(H) K. BARKER	+	D. PAGE	15 balls
9th	WICKET	14*	v RICHMONDSHIRE	(H) D.J.B. MORGANS	+	D. PAGE	31 balls
10th	WICKET	8	v THORNABY	(A) D.J.B. MORGANS	+	P.D. RAINE	9 balls

LEAGUE

	BOWLED	<u>CAUGHT</u>	<u>L.B.W.</u>	STUMPED	RUN OUT
M. STAINSBY	10	7	1	1	1
N.S. SIDHU	5	6	2	1	3
J.G. MOODY	4	8	2	1	1
N. PRATT	2	8	5	0	1
M.E. JOBLING	2	9	0	0	3
S.N. WHITEHEAD	5	2	1	0	2
K. BARKER	3	1	2	2	1
D.J.B. MORGANS	4	1	0	1	1
D.R. JOHNSON	2	1	1	1	0
D. PAGE	0	2	1	1	1
R.J. LAWRENCE	0	2	0	0	1
C.S. BIGLIN	1	1	0	0	0
P.J. BENTLEY	0	0	0	0	1
J.R.G. LAWRENCE	1	0	0	0	0
K.D. MOTT	0	0	0	0	1
P.D. RAINE	0	0	1	0	0
S. RUSSELL	0	1	0	0	0
H. SINGH	0	1	0	0	0
	39	50	16	8	17

<u>CUP</u>

M. STAINSBY	3	6	0	0	0
J.G. MOODY	2	4	0	0	2
N. PRATT	3	3	1	0	0
M.E. JOBLING	2	2	0	0	1
N.S. SIDHU	1	4	0	0	0
K. BARKER	0	2	0	0	1
C.S. BIGLIN	1	1	0	0	1
S.N. WHITEHEAD	0	3	0	0	0
P.J. BENTLEY	0	0	1	0	0
B. KRISHNAN	0	0	1	0	0
R.J. LAWRENCE	0	0	1	0	0
D.J.B. MORGANS	0	1	0	0	0
D. PAGE	1	0	0	0	0
	13	26	4	0	5

8 WICKET	N.S. SIDHU	8-30	\mathbf{v}	NORMANBY HALL	(H)	LEAGUE
5 WICKET	K.D. MOTT	5-10	v	NORTHALLERTON	(A)	CUP
	N.S. SIDHU	5-14	v	SHOTLEY BRIDGE	(A)	CUP
	N.S. SIDHU	5-51	v	REDCAR	(H)	LEAGUE
	N. PRATT	5-59	v	REDCAR	(H)	LEAGUE
	N.S. SIDHU	5-76	v	REDCAR	(A)	LEAGUE
	N.S. SIDHU	5-88	v	MIDDLESBROUGH	(H)	LEAGUE
4 WICKET	NI DDATT	4.7		MADCUE	(II)	LEACHE
4 WICKET	N. PRATT	4-7	V	MARSKE	(H)	LEAGUE
	P.D. RAINE	4-25	V	NORTHALLERTON	(H)	LEAGUE
	K.D. MOTT	4-31	V	THORNABY	(A)	LEAGUE
	N.S. SIDHU	4-34	V	WHITBURN	(H)	CUP
	N.S. SIDHU	4-38	v	DARLINGTON RA	(H)	LEAGUE
	N.S. SIDHU	4-39	v	BISHOP AUCKLAND	(H)	LEAGUE
	D.R. JOHNSON	4-60	v	NORMANBY HALL	(A)	LEAGUE
	N.S. SIDHU	4-65	v	HARTLEPOOL	(H)	LEAGUE
	N.S. SIDHU	4-69	\mathbf{v}	RICHMONDSHIRE	(A)	LEAGUE

LEAGUE

BOWLED	<u>CAUGHT</u>	<u>L.B.W.</u>	<u>STUMPED</u>
16	48	5	4
10	10	4	0
7	9	3	0
4	3	5	4
3	9	3	0
4	10	0	0
44	90	20	Q
	16	16 48 10 10 7 9 4 3 3 9 4 10	16 48 5 10 10 4 7 9 3 4 3 5 3 9 3 4 10 0

α	TDC
Cι	JPS

N.S. SIDHU	6	10	2	3
N. PRATT	3	4	2	0
J.G. MOODY	1	3	1	1
K.D. MOTT	3	3	0	0
D.R. JOHNSON	1	2	0	0
R.J. LAWRENCE	1	1	0	0
P.J. BENTLEY	0	1	0	0
	15	24	5	4

RESULTS

		LEAGUE			<u>CUP</u>		
		<u>WON</u>	<u>LOST</u>	<u>DRAWN</u>	WON	<u>LOST</u>	
BATTING 1st	HOME	3	1	2	1	1	
	AWAY	1	2	4	1	3	
	NEUTRAL	-	-	-	0	1	
BATTING 2nd	HOME	2	0	3	1	0	
	AWAY	3	1	2	1	0	
	NEUTRAL	-	-	-	1	0	

After losing 10 players that played for the first team last year, finishing 5th in the league was an great achievement, thanks mainly to the appointment of professional Navdeep Sidhu and coach Neil Pratt. With 2 games not started and 2 abandoned within the hour because of rain, we had a good season gaining 327 points whilst only conceding 242 points.

We had 5 players this year making their 1st team league debuts: L.CRAGGS, R.J.LAWRENCE, M.C.C.MORGANS, C.OWEN and H.SINGH.

In the league programme there were 6 century partnerships: 3 for the 2^{nd} wicket, 2 for the 1^{st} wicket and 1 for the 4^{th} wicket. There were 18 other partnerships over 50: 5 for the 1^{st} wicket, 4 for the 4^{th} wicket, 3 each for the 2^{nd} and 5^{th} wicket, 2 for the 3^{rd} wicket and 1 for the 7^{th} wicket.

Two individuals stood out amongst the rest with the bat, Neil Pratt during his first season with the club got off to a steady start, however, he became injured and missed a couple of weeks mid season, but on his return he looked a completely different player scoring 549 runs in his last 10 games averaging 91.5, which included a magnificent 137* at home to Hartlepool. Navdeep Sidhu also contributed with the bat scoring 776 runs which included 6 scores of more than 50. We also managed to go through the season where all 11 men only had to bat once.

Navdeep made wicket taking this year compared to last look easy with an outstanding 73 victims, which included 8 caught and bowled. Neil also assisted in the wicket taking with 21 wickets in the first half of the season.

The rest of the wickets were shared evenly among the remaining four bowlers.

We bowled 7 sides out this season winning 6 of the games (4 while batting first) and losing the other.

We managed to do the double over only one club this season Darlington RA, and no one managed to do it over ourselves.

In the cup matches this season we made it through to the second round of each cup, however we then made a sharp exit.

Our biggest problem was the inability to set a large enough score to challenge the opposition while batting first, and in two of the matches we played while batting second towards the end of the innings we were chasing 9.5 an over, (we won them both thanks to Navdeep (58*) in one game and Mark Jobling (81*) in the other). There was also some exceptional fielding (for 15 minutes) in the Kerridge Cup game at Northallerton, when I made my one and only appearance of the season!

I hope Navdeep has a safe journey home and as successful a season back in India as he has had for us here at Darlington.